ﬂé Subtraction within 10 Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

A fast food restaurant had eight hotdogs. They sold five. How many hotdogs do they
have left?

Carol's hair was eight centimeters long. If she cut off two centimeters, how long is
her hair now?

A chef used three cherries to make a pie. Now he has seven cherries left. How many
cherries did he have before he made the pie?

Haley picked four apples from her tree. Now the tree has six apples till on it. How
many apples did the tree have to begin with?

Bianca had seven pieces of candy. She ate three pieces. How many pieces of candy
does Bianca have now?

A clown had ten balloons. He gave five away at a party. How many balloons does he
still have?

Rachel took two fish out of her fish tank. Now there are seven fish in the tank. How
many fish were in the tank to start with?

Oliver had five books, but he sold two at a garage sale. How many books does
Oliver dtill have?

A farmer had ten tomatoes from his garden. After picking some he had eight left.
How many did he pick?

Nancy had ten DS games. If she gave four to her friend, how many would she have
left?

Debby used two of her pencils. Now she has six pencils. How many pencils did
Debby have to begin with?

Ned had $9. After buying some new toys he had $5 left. How much did he spend on
toys?

Answers

10.

11

12.
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ﬂé Subtraction within 10

pie?

with?

Name: Answer Key
Solve each problem. Answers
1) A fast food restaurant had eight hotdogs. They sold five. How Take From
many hotdogs do they have |eft? (Result Unknown) || ; 3
2) Carol's hair was eight centimeters long. If she cut off two Take From 2. 6
centimeters, how long is her hair now? (Result Unknown)
3 10
3) A chef used three cherries to make a pie. Now he has seven Take From 10
cherries left. How many cherries did he have before he made the 4
(Start Unknown)
5 4
4) Haley picked four apples from her tree. Now the tree has six Take From
apples still on it. How many apples did the tree have to begin (Start Unknown) 5 5
5) Biancahad seven pieces of candy. She ate three pieces. How Take From 7 9
many pieces of candy does Bianca have now? (Result Unknown)
8 3
6) A clown had ten balloons. He gave five away at a party. How Take From 2
many balloons does he still have? (Result Unknown) || ©
10, 6
7) Rachel took two fish out of her fish tank. Now there are seven Take From
fishin the tank. How many fish werein the tank to start with?  (Start Unknown) | 8
8) Oliver had five books, but he sold two at a garage sale. How Take From 12, 4

many books does Oliver still have?

9) A farmer had ten tomatoes from his garden. After picking some
he had eight left. How many did he pick?

10) Nancy had ten DS games. If she gave four to her friend, how
many would she have | eft?

11) Debby used two of her pencils. Now she has six pencils. How
many pencils did Debby have to begin with?

much did he spend on toys?

(Result Unknown)

Take From
(Change Unknown)

Take From
(Result Unknown)

Take From
(Start Unknown)

12) Ned had $9. After buying some new toys he had $5 left. How Take From
(Change Unknown)
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ﬂé Subtraction within 10 Name:

Solve each problem. Answers
7 N

4 5 6 6 2 1.

10 10 3 3 9 2.
\. Y

1) A fast food restaurant had 8 hotdogs. They sold 5. How many hotdogs do they have
left?

2) Carol's hair was 8 centimeters long. If she cut off 2 centimeters, how long is her hair
now? 6.

3) A chef used 3 cherries to make a pie. Now he has 7 cherries left. How many cherries ||
did he have before he made the pie?

4) Haley picked 4 apples from her tree. Now the tree has 6 apples still on it. How many
apples did the tree have to begin with?

10.

5) Biancahad 7 pieces of candy. She ate 3 pieces. How many pieces of candy does
Bianca have now?

6) A clown had 10 balloons. He gave 5 away at a party. How many balloons does he
still have?

7) Rachel took 2 fish out of her fish tank. Now there are 7 fish in the tank. How many
fish were in the tank to start with?

8) Oliver had 5 books, but he sold 2 at a garage sale. How many books does Oliver still
have?

9) A farmer had 10 tomatoes from his garden. After picking some he had 8 left. How
many did he pick?

10) Nancy had 10 DS games. If she gave 4 to her friend, how many would she have left?
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